Calculate the Molarity of the following:  
Remember: M = moles divided by liters.

If you are given grams, you must convert to moles.

If you are given ml, you must convert to liters.

1. 4.67 moles of Li2SO3 dissolved to make 2.04 liters of solution.

2.  0.629 moles of Al2O3 to make 1.500 liters of solution.


3. 4.783 grams of Na2CO3 to make 10.00 liters of solution.


4. 0.897 grams of (NH4)2CO3 to make 250 mL of solution.


5. 0.0348 grams of PbCl2 to form 45.0 mL of solution. 

6. If 10.7 grams of NH4Cl is dissolved in enough water to make 800 mL of solution, what will be its molarity?

